GREEK WRITING
The alphabet

Lower case
aByodelinOikApuviéongolgtvdxhw

Upper case (normally only for the first letter of proper names and the first letter of a direct quotation):

ABIAEZHOIKAMNEOIIPXTY D XWQ

Breathings
® A Greek word that begins with a vowel sound shows a “rough” breathing (%) if it begins with an “h” sound: ékatov = “hekaton” eig = “heis”

o  Greek words beginning with a rho or upsilon always show a rough breathing: GuOuog = “rhythmos” UTtéo = “hyper”
e Otherwise, a Greek word that begins with a vowel sound shows a “smooth” breathing (*): 0kt = “octo” eikoot =“eikosi”

Accents
e  Most words in Greek have a single accent, a raised tone on a single, short vowel sound.
e A forward slash (“/” called the “acute” accent) above the letter marks the single short vowel sound with the accent.
o  The acute accent on a long vowel sound means the accent is spoken on the second half (mora) of the long sound: &> = 06
e If the accent falls on first half (mora) of a long vowel sound, then the second half has a falling tone. The combination is designated with a stylized
version of the rising tone (/) followed by the falling tone (“\”), called a circumflex (“~”): 60 = @, 6U = ov
e  When the rising tone of the acute accent at the end of a word is diminished or negated by having to pronounce the next word, the mark is inverted: the
forward slash (“/”) is flipped to a backward slash (“\”), called the “grave” accent: T0 = 10 dwoov
e Placing the accent:
o On most Greek words, the “recessive” rule determines the placement of the accent. This means:

= If the last syllable of the word contains a single short vowel, the accent “recedes” two syllables: didote. It can recede only to the last

short vowel sound of this syllable (never to the first mora), so the accent appears as an acute (“/”): &vOpwmog, dcdoete (= dodoeTe)
=  But if the word has only two syllables and the last syllable of the word contains a single short vowel, the accent recedes to the first

syllable (d0te) or the first mora of a long vowel sound: dcwpov (= 06ogoV)
= If the last syllable of the word contains a long vowel sound, the accent “recedes” only one syllable: d1dOtw. It can recede only to the
second mora of this syllable, so the accent always appears as an acute (“/”): TaQAdWOW (= TAQADOOOW = TTARADOOTO0)
Some nouns, adjectives and pronouns accent case endings or the final mora of their stem (urjtno, pUnNTEOg, pUNTei, untéoan).
Conjunctions and prepositions normally accent their final syllables: ’AA&, TteQL.
o Proclitics (such as 0, n)) act like prefixes to a word and so rarely bear an accent. Enclitics (such as tig, tu) act like suffixes to a word and so
generate an accent only if too many unaccented syllables would result otherwise: &vOQwmOG-EoTLv, AVOQWTWV-TIVQOV

Punctuation
e  Greek indicates a period (.), a half-stop (+), a comma (,), and the question mark (;).



DIPHTHONGS and CONTRACTIONS: two consecutive vowels can merge into a single sound.

THE GREEK ALPHABET: SOUNDS and COMBINATIONS

SHORT VOWELS LONG VOWELS
a “ah” a “aah” or n “ay”
¢ “eh” n “ay”

v “ih” T “ee”

0 “o0” o “oh”

v “u” v “ooh”

vowel + 1 forms a diphthong
o+1=am “eye”
0 + 1= “aah”

usually written ¢
e+i1=ga “ay’
n+iv=m “ay”’

usually written 1
0+ 1=o0“0y”
®+ 1=t “oh”

usually written ©
v+i=u“wi’

Rules for the end of a Greek word:

o, € and o contract:

o, € and o contract:

vowel + v forms a diphthong o, € and o contract:
a+v=0v “ow!”
oag+oa=a
€+v==¢cv “‘eu” a+e=0a
ag+0=0
0+ v =o0v “00”
CONSONANTS
Labial Dental
unvoiced Tp Tt
voiced Bb od
aspirated ¢ ph 0 th
+0 Y ps GS
nasals pm vn
liquids rl

® A Greek word can end only in a vowel, -v, -0 or -c.

e If necessary, consonants will drop from the end until the word reaches an allowable final sound (cwpat = cwuo).

e+a=n
e+e=gal

€+0=0V

Palatal
Kk k
TEe

1 kh
Eks

Y ng
pr

=00

0+0=0O
0+ 0=0V
0+ E&=0V

e A word ending in -0t can add a final -v (“nu-movable”) to make pronunciation easier: e(koot eloL = &KooV lowv.



